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1. (20%)

(a). Solve the equation  (x+3y)dx—(x-1)dy =0 with y(0)=1,

in((x+y) =

(b). Solve the equation y"(x)— y"(x)— ' (x)+ y(x) =€’ +e* for (x).

2. (20%)
- -

s
Let  F=zi+x/+yk. Assume Cisthe boundery of the plane z=1-y shown in the figure.

(2). VxF=?
(b). Ewvaluate ﬁf‘ o dR , where dR =dxl + dﬁ# dzk s the differential displacement along C.

(FEs48 8, FEgrg)
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3.(20%)
Consider the complex functions
a). f(2)=——,
41
b). f(z)=
» f@=m0

Integrate f(z) clockwise around the circle C :iz! =1/2.

4. (20%

Use the method of Fourier sine series to solve the problem:

u, =4u_, D<x<3,t>0

w(0,0)=u(3,0)=0, >0
u(x,0)=0, ex<3
w, (x,0) = x(3 - x), D<x<3

5. (20%)

Let x=s5+t" and y=5" +{

a) Compute £ and -‘?‘}-J-,
os
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b) Compute 3?—& and —,
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¢) Let u=xy, compute —,
0s

av
d) Let v=s+17,compute —.




